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a—F g ik | Bk (kg) %R () =l i S P (BAL)
Y3002 =# (44 ' 26 18,166 1,080 756 173 | B 26kg |
31200 (i 302 22 22 22 | BN 143K
31900 hX 1,328 324 324 324 B dkg
34330 EAT ‘ 21 5, 605 65 59 29| B 1054
34400 k< k - 48 6, 674 162 162 108 | BN 48kg
34460 I=L L 1 486 97 97 97 | BN 54y
34100  #AL 18 2, 052 24 24 22| BN 907
34200 R 249 14, 339 119 38 381 &HMN 249kg
Y3033 | ZHAAL ' 10 648 65 65 65| BN 10kg |
36600 ~¥RE 30 1, 944 65 65 65 | BN 30kg
34930 LA v _ 37 9,824 108 76 32 BN 1244
34800 BB ) I 3, 564 108 108 108 BN 33% v ko
36700 [1ZAAC< 10 3,143 324 324 292 B 10kg
37520 RUX 6 3,024 151 151 151 B&H 203 |
49470 SRy mL T A—Y 10 9, 007 97 97 86 | B 98{H B
71011 A7 L —% 48, 438 59 54 27 B~ 1, 05074
30100 72V Z A 108 9,088 86 86 81| =% 10874
130100 VNI A 200 1,404, 76 76 65 BEB . 20k
30300 A% 100 11,340 1,188 1,188 1,080 |Eif 107 —2 |
30300 A% L 30 4,212 1,404 1,404 1,404 | B 34—
30400 TUF 5 I 30| 1,296, 216 216 216|EE 67—
30400 | TS 12 7. 822 54 54 22 | B 6148
30400 ZIE S M 10 2,160 2, 160 2, 160 2,160 | IR B 1r—=
31100 H¥ 45 4,212  1,404| 1,404 1,404 | EF 34—
31100 H3Z 15 1,512  1,512] 1,512 1,512 K% 14—
33810 HAERL 4 1, 296 65 65 65 FEIR B 2048
31700 Fpoly I | 160 12,312 1,080 756 756 |l 165 — X
31800 IEHMAE ‘ 12 7,128 119 119 119 | R E 6043
31950 Hia¥ 42 3,996 756 648 432 |EIR B T —2R
31900 ME o 5 2,376 324 216 216 BERE 103 (500g) |
32800 125 1, 350 27 27 27 | E i 503K
36800 ©o X k9 60 12, 960 216 216 216 | EI% 60kg
36800 5o X k5 5 1, 350 270 270 270 IR B 5kg
34300 72 30 7,992 1,404| 1,296 1,296 REA 64— A
34400 k= b 29 5,184 54 54 54| K4y 96,8
34400 R~k M | 12 6,156 2,052 2,052 2,052 EWE  3r—=
34400 k= h B M | 40 3, 564 486 324 324 IR 107 —2 |
34460 I =L E & M 6 1,026 540 540 486 | ETIG 2r—A |
34460 S=kxE M 100 3,629] 76 76 76 BERE 485y |
34100 K 40 648 216 216 108 | ‘= ar—= |
34100 #K . 49 4, 644 65 65 54| B 6%




da s Al fH
a—F i Sk | PERR (kg) &% (F) Ty il el E (A1)
34100 /I 2L 70 6, 728 648 389 389 RS 144 — 2
34100 &L L 15 4,212 1,404] 1,404 1,404 BERE 3r—2
34500 | E—< i ’ 64 13,068 49| 32 32 =M 32048
34500 E—< 2L 30 5,616 216 173 173 | ‘I 30kg |
34520 HRE—< > A |L 2 216 216 216 216 | BV B 1 —2R
35100 W AT A 3 875 32 32 32 | H I 2748
36600 ~ERE 80 5,551 1,620 1,318 1,296 |4 44—
36600 7~ERE L 60 6,480 2,160 2,160 2,160 |#&& 34—
37200 L3 4 1,296 1,296 1,296 1,296 H[E 17 —=
33400 L & R 6 1,836 1,836 1,836 1,836 | Ei#F 1r—= |
33600 /<t U 0 324 162 162 162 | @ 2%
133300 Ymya)— 18 3,996 76| 16 54| ElF 6018

38100 A LW M=t 10 3, 694 43 43 28 | BT 95/ 7
34980 ~bE 6 1,296 65 65 65 | EER 2048

Y3065 AA—hz—1 8 583 22 22 22 | EIRE 218y 7
31310 ATH 4 1,134 65 54 54| & 2048

31500 /MAZE 15 3,510 49 49 43 |t 754%
32500 AT 0 43 11 11 1l|EM 4R
32500 HolE 1 108 11 11 11| K%y 103K
37520 ARUE 3 648 648 648 648 | B IfF 148 i
37560 BBIT ' 1 1,458 324 216 162 | K4y T8y
45503 Ly K/a—7 6 2, 668 140 140 140|F U 19,3y 7
47420 T TR A1 7 1,512 216 216 216 |REAR 71&

Y5006  E35R (541) 80 19,580 2,516| 2,516 2, 354 FERE 84— A
Y5006 IR (B4 70 15,682 160 160 145 | IR B 1008y 7

aat 1,918 343,815|
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